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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
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otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed
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The turn Ratio of a transformer is 10. It means
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2.85 year

30 year

5730 year

12.3 year

Half life of Hydrogen is -c‘_J’U.JQJJuJ_%Q

1956

1856

1756
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tain Huygens invent the Pendulum Clock.
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All of these
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Wave motion
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Radiation

Conduction
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Which of the following is a method of energy

transfer?

k=-Fx

x =—Fx

F = —kx
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The formula of Hook’s Law is

30Hz-30kHz

25 Hz-25 kHz

20Hz~-20kHz

10Hz-10kHz
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For a normal person audible frequency range for
sound wave lies between .
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The unit of intensity of Sound is (2 ¢ 1§ %351
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A converging mirror with atadius/of 20 cm creates a real
image 30 cm from the mirror. What is the object distance.

f=R/3
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The correct relation between focal length ()
Radius of curvature (R) is
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Five Joules of work is needed to shift 10 C of charge

from one place to another place. The potential
difference between places is
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What is the power rating of a lamp connected to
a 12 V Source when it carries 2.5 A?
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OR

AND

NOR

NAND
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A
The logical operation performed by this gate is '3::D’_x
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Parto . I

Answer briefly any Five parts from the followings. $x2=10

Define Simple Harmonic motion.

' Ifthe length of a simple pendulum is doubled, what will be the

change in its time period.
What is meant by Logic variables? ¢ Kb By Gy)
Determine the power of lens, Ifits focal length is 10 m.

State Snell’'s Law, write its formula,

Draw the symbol of NOT gate and also write its truth table.
NAND gate is the Reciprocal of AND gate. Discuss?

Answer briefly any Five parts from the followings.  5x2=10
‘What do you mean by the term intensity level of the sound Name its unit.
What is difference between pitch and Quality 6f Sound.

. 4 K. %
What is fax machine. -‘aﬁf U2 J*G Gv)
Draw a diagram of three capacitors which are combined'in parallel.
Define Electric field intensity and write down its SI unit’

Define the terms

- (a) Information technology (b) Telecommunication

What is difference between RAM and ROM memories.

Answer briefly any Five parts from the followings.  5x2=10
What is the difference between Direct current and Alternating current.
Can current Flow in a circuit without potential difference.

Define Resistance; And also write the name of its unit.
Can Transformer work on Direct Current.

Write two properties of Beta Particle.././, Pl (S ﬁjg & i
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What is Silent whistle? -q__lf [ aTe
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Define Mutual Induction. f /iy 7§ 2 2 .+

What is the difference between atomic no and mass no. _4.0")}@: / Vbt / i

Define Fission Reaction; Give also its equation. -u."f .-,m,‘&jwuf_@ }7J uﬁ-(ld/u"‘
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Note: Attempt any Two Questions. 9x2=18 -u_‘fd -:.Ll_eﬁamrm-_‘jf:..‘.]

Define Thermionic emission and investigate the properties of electrons.
An object 10.0 em in front of a convex mirror forms an image
5.0 cm behind the mirror. What is the focal length of the mirror,

Describe an activity to demonstrate the phenomenon of echo.
A point charge of +2 C is transferred from a point at potential
100 V to a point at potential 50 V. What would be the energy
supplied by the charge?

7.a. What is meant by Nuclear transmutation? Give examples of

Albpa, Beta and Gamma decay. J
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An electric bulb is marked with 220 V, 100W. Find the resistance of the A:..Ju’ l-‘glnw 100W 220 V{,EJ,-J }gl L
filament of the bulb. If the bulb is used § hours daily, find the energy in éﬁuy“fs;uuf;_,l:/l-érﬁ”w"‘/mfww

Kilowatt-hour consumed by the bulb in one month (30 days)
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Note:- You have four choices for each objective type question as
front of that question number, Use marker or pen fo fill the circles
question. Write PAPER CODE, which is printed on this question
otherwise the student will beresponsible for the situation. Use 0
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A, B, CandD. The choice, which you think, is correct; fill that circle in

- Cutting or filling two or more circles will result in zero mark in that
paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
fink remover or white correcting fluid is not allowed
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(D) (C) (B) (A) QUESTIONS Q-Tl
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Control unit CPU Memory Monitor | The brain of any Computer system is
997" busta Udss ufél. u:/’! -wJ/J;;dﬁJ:g,Lps,gg,J 2
In solids in both a and b In liquid Ingases | Longitudnal waves move faster in |
£180° 445° bt 612 | g ¥ ST B s 6D 5|
at 180° at 45° Perpendicular | Horizonta] | OSCilation of é'lectric an'd_magnetic fieldin
electromagnetic waves is at an angle of
Uf[f&;?/’" < Udnbala c,..frlﬂl c..ff’)‘.! -‘LGCBJ(PGJ’XJGL 4
u"’(d"( & Both from a : :
None of the Ultrasonics | Irifra-Sonics | The depth of water can be measured by
above andb
£ 20 99 F8.2 F4d 6o g L F1ac 87 0| s
20cm 9.9cm 82cm 4.1cm The object -Jngiéjgf}&/-q.ﬁf,aﬁéfs.&u'lg
is 14 cmfrom a concave mirror, The image is 5.8 cm behind
the mirror, What is the focal length of the mirror?
G'CB(JKU{(’(" JLTU'-’(L{F Jﬂ‘f J&}_ JJJLLAJLJMUU‘I(JJ&Z/%JL?:J&WLU?JI( .6
Can'tbe Remains | Decreases | Increases | According to Godlomb’s law what S ed
determined | Unchanged happens to the attrattion-of two oppositely charged
objects as their distance-of separation increases.
510 Lis5 <is2 9305 uJ'.'."«u‘(ﬁ.’l-‘ah'ztfrﬁ)ﬁSéf-ri./(}ﬁ!@/(gg)[l0 7
10V 5V 2V 0.5V | Five(5)joules of work ¥/ P yue sl eiis
needed to shift 10 C of charge from one place to
another. The potential difference between the places is
36V 18V 9V 2V | e e GBS SO HL s | g
What is the voltage across 6Q resistor when 3A
of current passes through it?
ek | g s Clede Pl tilonrdB el | o
— c_ZyJ{g -ve c—(y/gﬁve Small )
Mugnetic Stationary Stationary charge The presence of magnetic field can be detected bya
compass —vecharge | +ve charge
y /.‘nj . g -wdc.bd:ab!”ul’};g/;cu‘d,/:_%ﬂdiezﬂ .10
Internet Computer Teacher Book From which of the following we get informations about
P N everything.
Gt | ke L s - pe P RIEERE 2ed | 11
Large data | Processeddata | Raw data Anydata | In Computer technology Information means.
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A
L OR NAND NOR AND The logical opetation performed by this gate is ',:D"-'x —J
1035-1023-35000 (2)
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Answer bneﬂy any Five patts from the followmgs. 5x2=10 -u‘/ 47 ulli/‘f Liz ét c-d:( etditn 2y
What is meant by digitization? S Ya't P B3 i Define Simple Harmonic motion../ S 5 d/ ¥k r;l,g){ A
What is meant by damped oscillations? -l e 25 EH TSI i1
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Describe the types of reflection with diagram.

Find the time period and frequency of a simple pendulum

1.0 m long at a location where g = 10.0 m 57 -< g=10.0m §2

Define Snell’'s Law. Write its formula. .u.‘fﬁ Iy Sy S s P Suse e
Write the symbole and truth table of NOT gate. ..u.‘."V Kz simespefot ot
Differentiate between analogue electrc;nics and Digital Electronics. J/ ubJ} ul,wé:f 3 j—an}@ulu‘f )ﬁ J [1v]
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Answer briefly any Five parts from the followings.  5x2=10 “ Y / ey /‘; Ziz lé&c‘jf c._ufd;bu 23 / Jir

What is the difference between Loudness and Pitch. -au/ U’u” 6»1 J’ 5
_g{/r}*'d:é‘;’f'fbf;ﬂf(’,e =S
State Coulomb’s law.<J o[ u_l._r.u]l's'(..‘}:‘/.(iv) Define Capaéitor and write it one use -é JL-""V{! K sl =0 o - /7 J k—%f
L VB S LT syt
o ALSESL 7 Pzt

Calculate the Intensity level of Faintest audible sotind.

Draw the electric field lines for two positive point charges.

Write the name of the components of computer Based information systemn,
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Why optical Fibre is morc useful tool for the communication process. ‘.‘c‘_u::.( )‘_lj}/}"ULJGJ el Gﬁfuﬁ' (L'/ gﬁé:j
What is the difference between Compact disk and floppy disk. -c.d/ U/u-f J)Qib/:l J:&‘J
Answer briefly any Five parts from the followings 5x2=10 -g[/ j IO ) 4 /‘; Lz fétc.df :.u.‘.'() SO.! / Jir

Find the number of protons and neutrons in nucide defined by ; X LAy e M e o X erf A E,

Draw the circuit diagram of three resistors in series combination. ~uf l'f.(l/!;lﬁ.‘af Ve J ik éd_b?c_,.?, )’z e

Write down any two characteristics of gamma (¥) rays. M eter® s s

What is difference between a cell and a battery. -‘LJ}L«‘/UL/JJJ:(} /f.’u:ld..’
Define Transformer and write down its principleu-’i Jrik ‘qf " Ao 2 i State Joule’s Law. - /i ok I

L i S fSid £y
Can a Transformer operate on direct current. -:_Cﬁ/ (K/u/ b Y2
Part e I e

Note: Attempt any Two Questions. 9x2=18 Ul f = ..,yzé.:m/»c,éf._.,/
5.a. Define Total Internal Reflection; with the help of diagram. Explain. .;,{/ .:JU’:J Jle s Jﬂfy;ﬂu/ - /." J g,;? J J’ Al J’ g

Define Nuclear Fusion write down its Equation.

A simple Pendulum completes one vibration in Two Seconds Vi i-‘at'/ J[ 2 Sec LA l:u__fl(}’,.i{j;ﬁ’;a:l/v_fl
g=10ms” £ sy
L O veudens SUF I

Calculate its length; when g=10 ms”

6.a. Whatis the importance of Acoustics? Explain it with Examples.

A point charge of +2C is transferred from a point at potential NYATOIN Ji':‘j 100V §7 Lo ity L 42C i
* £ 4 ° * *
100 V to a point at 50 V. What would be the energy supplied P &b
b & Sep STt P otisd i Pysove
by the charge? - AT S ¥
VJ!!M/!A;’JJ/'I u/
7.a. Derive the relation for resistance ‘R’ and specific resistance "0 il MJ L JUJ/E:': R seitat,

J;M'VIJVJ(JWUV))L A L/U....“S.w oSl
drz § 18- e o 57305 0 18-

'p' of awire of length ‘L’ and cross-sectional area ‘A’.

b. Carbon-14 has a half-life of 5730 years. How long will it take
for the quantity of carbon-14 ina sample to drop to one-eight 1
ofthe initial quantxty” £ nz(».ﬁ:l‘;‘/gj__éé.lgﬁ/ F g KA

/ 1036 - 1023 - 35000

¥

il

.viii

.a.5

.a.7

TR TR

BT B




